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QUESTION 1

Which address range is used for source-specific multicast? 

A. 239.0.0.0/8 

B. 233.0.0.0/8 

C. 232.0.0.0/8 

D. 224.2.0.0/16 

Correct Answer: C 

PIM SSM introduces new terms for many of the concepts in PIM sparse mode. PIM SSM can technically be used in the
entire 224/4 multicast address range, although PIM SSM operation is guaranteed only in the 232/8 range (232.0.0/24 is 

reserved). 

The new SSM terms are appropriate for Internet video applications and are summarized in Table 1. 

https://www.juniper.net/documentation/us/en/software/junos/multicast/topics/concept/mult icast-pim-ssm.html 

 

QUESTION 2

You are asked to troubleshoot voice quality issues on your newly implement VoIP network. You notice that the voice
packets are being dropped. You haveverified that the packets are correctly marked for expedited forwarding queue. 

Referring to the exhibit, what must you configure to solve the problem? 
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A. You must configure a multifield classifier to put the VoIP traffic in the correctqueue. 

B. You must configure a rewrite rule to ensure that the traffic is scheduled properly in the device. 

C. You must configure a scheduler to allocate bandwidth to the expedited forwarding queue. 

D. You must configure a policer to ensure that the queueis not being starved. 

Correct Answer: C 
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QUESTION 3

You want to provide Layer 2 connectivity between campus sites using Ethernet switches through a metro Ethernet
service provider who isusing Q-in-Q tagging on their network. 

Referring to the exhibit, what are two design considerations in this environment? (Choose two.) 

A. VXLAN could be implemented on your network across this service provider network. 

B. Each campus switch shown must have a C-Tag 300 configured. 

C. L2PT is required on the SP network to support the spanning tree protocol. 

D. Each campus switch shown must have S-Tag 300 configured. 

Correct Answer: CD 

https://www.juniper.net/documentation/us/en/software/junos/multicast-l2/topics/ref/statement/layer2-protocol-tunneling-
edit-vlans-l2pt-ex-series.html 

 

QUESTION 4

You are troubleshooting a BGP connection. 

Referring to the exhibit, which two statements are correct? (Choose two.) 
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A. Packetfragmentation is preventing the session from establishing. 

B. The 192.168.1.5 peer has a misconfigured MD5 key. 

C. The ge-0/0/1 interface is disabled. 

D. The 192.168.1.4 peer has a misconfigured autonomous system number. 

Correct Answer: BD 

 

QUESTION 5

Referring to the exhibit, which two statements are correct? (Choose two.) 

A. The maximumwattage that this switch can allocate to attached Ethernet devices is 100 watts. 

B. If the total power consumption exceeds 90 watts, the ge-0/0/11 interface will continue to receive power. 

C. PoE is not enabled on the ge-0/0/0 interface. 

D. The ge-0/0/10 interface supports PoE+. 

Correct Answer: AD 

POE is enabled in the interface ge-0/0/0 but nothing is connected to it. switch is in AT mode (poe+) and interface
ge-0/0/11 supports poe+ judging by maximun wattage 
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